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(1) FEERR

FEEGH SEE SEH
SH6E SHMSE EEHK |SM6E SM5E HEEH | SM6E SMSE  EEK
BA 47 36 11 3 1 2 49 38 11
R R 921 955 -34 11 16 -5 1,031 1,059 -28
s B 97 93 4 1 1 106 99 7
£t 1,065 1,084 -19 15 17 -2 1,186 1,196 -10
= 76 89 -13 3 3 83 95 -12
" K 191 154 37 8 6 2 213 168 45
fi BA 26 20 6 3 2 1 25 19 6
st 293 263 30 14 11 3 321 282 39
i 1,358 1,347 11 29 28 1 1507 1478 29|
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541 SEEH 54 SEEH
SH6E SHS5FE SHM6FE SHSE| S6FE SIM5FE SM6EFE SH5HE
2 ES #| 1,065 1,084 15 17 293 263 14 11
% 1= = 166 146 1 76 65
= 7 ) tt 336 377 4 3 56 74 1 4
R 5 502 523 4 4 132 139 1 4
X = H T sE 206 170 1 1 63 45 4 3
5 — 7 38 49 3 9 15 4 6 2
B =] = 319 342 7 3 83 75 3 2
(3) EHMUEREAIFAEIRR
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e FEEH 1 FEE
AH6FE SHMSE SHM6E SHGE| SMeFE | SH5F LHM64E SMSHE
S = #| 1,065 1,084 15 17 293 263 14 11
X - B @ & 15 20 3 13 15 1
g i b o 54 57 1 5 41 30 3 2
= % ) it 46 32 1 17 6 2
it 115 109 2 8 71 51 5 3
B & = x = W 215 236 1 36 44 1
T m @& = 33 38 1 3 7 2 3
B -] 259 260 61 51 1 1
% & o @ 215 227 1 1 50 56 1
i B i B 62 53 1 24 27
g k& i B 33 41 2 7
z ) it 108 102 1 27 18
B 710 721 3 5 171 161 4 2
3 i B P 25 18 9 4 15 7 5 5
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LEEH SEEH LEEH SEEH
SH6E SH5FE SHM6FE SHSE| ST6FE SIM5FE SM6EFE FH5HE
= #2105 2150 15 17 571 519 14 11
5] 7] 3 2 2
F =) % 22 31 3
# o e % 25 28 2 4
In H 50 61 4 7
= % E3 45 47 9 14
= 3 & 225 263 94 108 1
S5 G40 - 164 196 76 87 1
= & & 544 564 11 12 94 92 8 7
EE AR 448 451 5 4 62 65 2 1
z D) ] 1,241 1,215 4 5 370 298 5 4
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